
Calculation of the Enclosed Volumes and Surface Areas: 
 
Measurement error of a calliper: ( ) 0,1 mmm x =  
Measurement error of a micrometre ( ) 0,01 mmm x =  
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Sphere: 
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Cuboid: 
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Swing time τ  of a pendulum : 
 
For our purpose, the period T should be recorded. 
 
 
One period as a single measurement: 
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10 periods as a single measurement 10 20t T τ= = : 
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Repeated measurement of one period 2t T τ= = : 
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Sequential measurement of one period (10 data points) 2t T τ= = : 
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Computer controlled measurement: 
Use the software "Torzni kyvadlo". 
Consider the uncertainty Auτ only. 

 


